EROERE—

BR £ 8 R S I BE 0D SR IR

(201 3FEZMBABARXTVYINIFEED)

X G Fll E 2

T TWBDOMR50HTHTHT (92, 6%)

ST PR FEYEA JL I L7 i) E 2 S L QD D46 T ITAT (85. 2%)
HBTAS 4 3T F Y 5 £ H 5 (3H)
[ Ik D@y, ©: ARIEHECTENE, O3, A ath. X RFEk

GilIERES

£

AEREREZRICLEBRAR

20125 EEE
Gy %8

EHEFER
ZDhaA

EHR AR

a1
o

(EERERERGEEES:46)

398| 29,171,979 KE:4

1| A& ET

Tl
WA
B

115%LIAN
130%LIN (2-4-6+8
130% + — iR A4

THF

56| 23,539,377

2| BiE

ﬁzgg,..
W

1)
IABHLIN
115%LIAN

130%LAN (2- 8)
130%+4+r$:é3 ﬁﬁm%’ﬁuw

HPr

3| [T

R 115%LLH
$H---130% LAY (2-4+6 - 8%E)
i

140% LI

0 0

4| —&=T

Habie

J&A - 120% + —H A4 FLIABALIN (555)

102,799

5| WEFT

,\~~~11o%uw
H---115% AN (8%]) | 120%LLN
~-130%LIN

(5%I)

2 299,616

6| M

% 110% LN
$H---120% LAY (55E])
~-130%LIN

0 0

AE3=F:a

%R 110% LN
(- 120% DL (5 82E))

4 149,240

8| EJiT

%---115%LIN
- 130% LAY (2-4-6-8%E)
1 130% + —EAHEE FLABLAN

0 0

9| HET

%---115%LIN
- 130% LAY (551)
--140% LN

10| ZEFd

%---110%LIN
- 120% LAY (8%E) |
~-140% LN

130% LI (55)

1] X

% 110% AN

12| EH

%---110%LIN

- 120% LAY (551)

--130% LN

13| 22y

14 HE™

%---115%LIN

%A 130% LAY (551)

--140% LN

o | Oo] O |[©o] ©
o | Oo] O |[©o] ©

2013 4 6 A b3

15

%---115%LIN
- 120% LAY (8%) |
~-140% LN

130% LI (551)

6 41,106

16

- 115%LIAN
= 130% LA (5%])

0 0

17| H¥EH

=-110%LLN
= 120% LAY (5%1)
--130% AN

0 0

18

> 115%LIHN
~-130% AN (2-4-6-8H)

1 5,638

19

108 336,324

20| FEiRH

& 115%LIN
- 130%LIN (2-4-6-87%E)

85 990,290

21

0 0| 2 Tu e

22

=-110%LLN
= 120% LAY (5%])
-+ 130% A

0 0

23| KIFT

% 110% LN

- 120% LAY (551)

--130% AN

24

> 110%LLHN
- 120% LA (5%)
--130% LN

2 127,149

25

©| 6|00 |xl00o|]®|©|©0|O0|0O]lO0|0O]O0|O0|O0|0]O0|0O0|0O|0O0|O

%---110%LIN

i - 120%LIAN (8%EI) | 130% LA (5%)

--140% LN




GilIERES

e
&

AEREREZRICLEBRAR

201 2FEERE

i

£5

EHEFER
ZDhaAU+

26

R iR

,\--~115%LJW
$H---130% LAY (55E)8EE)
~-140%LIN

3

938,421

27

,\--~110%LJW
$H---120% LAY (55E])
~-130%LIN

28

Eerfi
]

29

]
251
FE)
]
=

% 115%LIN
-~ 130% LI (5%)

30

> 115%LLN
-+125% LI (55%1)
--130% LN

82

2,466,200

31

B
Uit
H
FE i i

> 115%LLN
=+130% AN (2-4-6-8H)

32

gl

% 115%LIN
1--130%LIN (5%)
~-140% LN

33

NE P =
1BZ2HM

% 115%LIN
- 120% LI (8%E) |
--140% VLN

130%LLAN (5%)

34

tELED

% 115%LIN

- 130% LAY (551)

=-140% LN

35

N T

> 115%LIHN
=+130% LA (551)
--140% LN

36

H&Lifi

> 115%LLN
=+125% LN (551)
=-130% LN

37

oHEM

> 115%LLN

%A 130% LAY (5%1)

--140% LI

38

RAFM

> 115%LLN
--130% LA (55])

39

HARHT

%:-115%LIN
- 125% LI (5%])

40

ST

> 115%LLN
=+130% LA (551)
--140% LN

41

K AHT

> 115%LLHN
-130% LA (55])

42

PREEHT

%-115%LIN
-130% LN (55E])

43

KiRHT

> 110%LLHN
=+120% LA (551)
~-130%LIN

121,556

44

BETLHT

> 110%LLHN
- 130%LIN (5%)

45

TREAT

% 115%LIN

- 130% LAY (551)

--140% LN

46

B A EEHT

> 110%LIHN
=+120% LN (551)
--130% LI

47

SRR

> 110%LLHN
=+120% LA (551)
=-130% LN

48

EEEsIEA )

> 110%LLHN

- 120% LAY (551)

--130% LN

49

ESE )

> 110%LLHN
=+120% LA (551)
=-130% LN

50

RET

51

= HIHT

> 110%LLHN
- 120%LIAN (8%1) | 130%LAN (5%)
--140% LI

[a—

52

BT

et

53

HUREHT

54

SARFT

xX>pPrpo|0lo|loc|]o0o|0|0 |00 |00]0|0D0|]0O|O0|O0|O0]|]0|0|00|0|0O]O|O

=l i=1E=]




